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Exercise 14.4

Question 1:
Find and correct the errors in the following mathematical statement: 4(x—5)=4x-5

#. Answer 1:
LHS. = 4(x—5)=4x—20# RH.S.

Hence, the correct mathematical statements is 4(x—5) = 4x—20.

Question 2:
Find and correct the errors in the following mathematical statement: x(3x+2)= 3% +2

#. Answer 2:
LHS. = x(3x+2)= 3x*+2x# RHS.

Hence, the correct mathematical statements is x(3x+2)=3x" +2x.

Question 3:
Find and correct the errors in the following mathematical statement: 2x+3y =5xy
€. Answer 3:
LH.S.= 2x+3y# R.H.S.
Hence, the correct mathematical statements is 2x+3y=2x+3y.

Question 4:
Find and correct the errors in the following mathematical statement: x+2x+3x=5x

#. Answer 4:
L.H.S. = x+2x+3x=6x# R.H.S.
Hence, the correct mathematical statements is x+2x+3x=06x.

Question 5:
Find and correct the errors in the following mathematical statement: 5y+2y+y—-7y=0

€. Answer 5:
LHS. =5y+2y+y-T7y=8y—7y=y# RHS.
Hence, the correct mathematical statementsis Sy+2y+y—-7y= y.

Question 6:
Find and correct the errors in the following mathematical statement: 3x+2x =5x"
#. Answer 6:
LHS. = 3x+2x=5x+ R.HS.
Hence, the correct mathematical statements is 3x+2x=35x.

Question 7:
Find and correct the errors in the following mathematical statement:

(2x)" +4(2x)+7 =22 +8x+7
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#. Answer 7:
LHS. = (2x)° +4(2x)+7 =42 +8x+7 # RH.S,

Hence, the correct mathematical statements is (Zx)2 +4(2x)+7 =4x" +8x+7.

Question 8:
Find and correct the errors in the following mathematical statement:

(ZJr)2 +5x=4x+5x=9x
€. Answer 8:
LHS. = (2x)’ +5x=4x> +5x# RHS.

Hence, the correct mathematical statements is (2);7)2 +5x=4x*+5x.

Question 9:
Find and correct the errors in the following mathematical statement:

(3x+2)" =327 +6x+4
€. Answer 9:
LHS. = (3x+2)" =(3x)" +2x3xx2+(2)" =9° +12x+4 # RH.S.

Hence, the correct mathematical statements is (3x+ 2)2 =0x” +12x+4.

Question 10:
Find and correct the errors in the following mathematical statements:

Substituting x=-3 in:
(a) x* +5x+4 gives (=3)" +5(-3)+4=9+2+4=15
(b) x* —5x+4 gives (-3)" —5(=3)+4=9-15+4=-2
(c) x> +5x gives (-3)’ +5(-3)=—9-15=-24
€. Answer 10:
(a) LHS.= x* +5x+4
Putting x=-3 in given expression,
= (-3)"+5(-3)+4=9-15+4=—2= RHS.
Hence, x° +5x+4 gives (—3)2 +5(—3)+4=9—15+4=—2.
(b) LHS. = x* —5x+4
Putting x=-3 in given expression,
= (-3)"=5(-3)+4=9+15+4=28= RH.S.
Hence, x* —5x+4 gives (-3)" —5(-3)+4=9+15+4=28.
() LHS.= x* +5x
Putting x=-3 in given expression,
= (-3)" +5(-3)=9-15=—6# RH.S.
Hence, x* +5x gives (—3)2 +5(-3)=9-15=-6.
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Question 11:
Find and correct the errors in the following mathematical statement: (y—3)3 =y'-9
€. Answer 11:

LHS. = (y=3)" = y*—2xyx3+(3)

2

[+ (a=b) =a*~2ab+1" |
= y*—6y+9# RH.S.

2

Hence, the correct statements is (y—3) =y’ —6y+9.

Question 12:
Find and correct the errors in the following mathematical statement: (z+ 5)2 =z +25

€. Answer 12:
LHS. = (z+5) =22 +2xzx5+(5)’ [ (a+b)' =a>+2ab+1’ ]
= 22+10z+25

Hence, the correct statement is (z+ 5)2 =z* +10z+25.

Question 13:
Find and correct the errors in the following mathematical statement:
(2a+3b)(a—b)=2a" -3’
€. Answer 13:
L.H.S.: = (2a +3b)(a —b) = 20(:1 —b) - 3b(a —b)
= 2a* —2ab+3ab-3b* = 2a* +ab—-3b* # RHS.
Hence, the correct statement is (2a+3b)(a—b)=2a’ +ab—-3b".

Question 14:
Find and correct the errors in the following mathematical statement:
(a+b)(a+2)=a’+8
€. Answerl4:
LHS. = (a+4)(a+2)=a(a+2)+4(a+2)

=a +2a+4a+8=a*+6a+8+ RH.S.
Hence, the correct statement is (a+4)(a+2)=a’ +6a+8.

Question 15:
Find and correct the errors in the following mathematical statement:
(a—4)(a—2)= a’ —8
€. Answer 15:
LHS.= (a—-4)(a-2)=a(a-2)-4(a-2)
= a’*-2a-4a+8=a’-6a+8+ RH.S.
Hence, the correct statement is (a—4)(a—2)=a" —6a+38.
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Question 16:

2

Find and correct the errors in the following mathematical statement: — =0
€. Answer 16:
L.HS. = 3x: =1:1 # R.H.S. Hence, the correct statement is BX: =1.
Ixm 1 3x°
Question 17:
Find and correct the errors in the following mathematical statement: 3';; T] =1+1=2
X
€. Answer 17:
i LA P PR SN P O T )
3x° 3x 3x 3x
. 3x7+1 1
Hence, the correct statement is — =1+
P 3x*
Question 18:
Find and correct the errors in the following mathematical statement: 5 = = :%
X+
€. Answer 18:
L.H.S. = e # R.H.S. Hence, the correct statement is Es = e \
3x+2 3x+2 3x+2
Question 19:
Find and correct the errors in the following mathematical statement: 2 L
4x+3 4x
€. Answer 19:
L.H.S. = 3 # R.H.S. Hence, the correct statement is 2 = > !
4x+3 4x+3 4x+3
Question 20:
Find and correct the errors in the following mathematical statement: 4Z+5 =35
X
€. Answer 20:
LHS.= 23 8%, 5 1,35 . RHS.
4x 4x 4dx 4x
Hence, the correct statement is i = l+i.
4x 4x
Question 21:
Find and correct the errors in the following mathematical statement: e =7%

€. Answer 21:

LHS. = 7‘”+5=E+§=%+1¢ RH.S.

5 5

7x+5_£
5
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